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JN=| 110,435 (+42)
5B 53,345 A (+27)
s 57,090 A(+15)
s 41,799t 5 (+47)
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Rl AOZX Frk19F12H1H

BEAOGR FEERSRALD (EEREAGIRCEFRSNIZALD) &E@E —BHUEIEA.

g AR YRR Si% 18R ik 1R | HEE | 18R
JE\ERH] 443 2 196 -1 247 3 196 2
ELH] 231 -1 102 0 129 -1 93 0
E=H] 155 -1 69 0 86 -1 70 0
KEH] 49 0 13 0 36 0 27 0
WNEL] 9 0 2 0 7 0 4 0
] 89 0 38 0 51 0 22 0
Eayestil] 66 0 12 0 54 0 16 0
P L ] 529 -1 255 1 274 -2 296 1
FEH] 32 0 18 0 14 0 15 0
1 H] 218 -1 93 -1 125 0 84 -1
= =[] 80 0 38 0 42 0 34 0
] 233 -2 110 -1 123 -1 108 -1
ZH] 135 0 61 -1 74 1 66 0
& SHT 551 -8 285 -2 266 -6 262 -5
FFrH] 74 -4 37 -1 37 -3 37 -2
1GRaH] 18 -1 11 0 7 -1 6 -1
FASEH] 148 -1 70 0 78 -1 85 0
—&T 0 0 0 0 0 0 0 0
NET 108 1 52 0 56 1 53 1
T&ET 147 -3 71 -2 76 -1 52 -1
N&ET 79 1 38 1 41 0 36 1
NET 259 -1 108 -2 151 1 86 0
T&ET 236 -4 104 -2 132 -2 117 -2
1ok ] 387 0 165 1 222 -1 198 -1
SiEH] 2,593 -9 1,236 -5 1,357 -4 998 -3
RFRE] 3,503 -19 1,639 -7 1,864 -12| 1,326 -3
] 1,482 7 711 1 771 6 492 0
B a)=<tiil) 1,834 -1 910 -1 924 0 723 0
FrERHE] 528 -4 242 -2 286 -2 229 -1
FHATHT 3,494 2 1,766 -4 1,728 6/ 1,501 -2
LLAEHT 2,210 -3 1,097 0] 1,113 -3 862 0




VEIRH] 1,970 5 997 4 973 1 500 1
Ll e 4,812 -10| 2,349 -2| 2,463 -8 1,718 -3
JFEET R 2,111 25| 1,058 20| 1,053 5 784 9
EBZRHE] 9,348 9 4,552 1] 4,796 8| 3,382 6
=2kH] 3,536 16| 1,724 11| 1,812 5 1,300 9
[ EHET 975 0 483 0 492 0 388 -1
EREFHIER — 2,424 8 1,151 5/ 1,273 3 786 -1
EREFHTERS) 1,798 -4 867 -3 931 -1 615 -2
EREFHT PG 7> 545 5 270 3 275 2 196 2
Er7KH] 5,642 6| 2,684 2| 2,958 41 1,820 3
g lii) 136 6 125 6 11 0 122 6
ERH] 61 0 35 0 26 0 37 0
ETRE—TH 435 0 223 0 212 0 190 -1
ETREIZTH 308 -3 134 -2 174 -1 141 -3
ETREI=TH 2 1 2 1 0 0 2 1
ETREMTH 0 0 0 0 0 0 0 0
ETREATH 243 -1 113 0 130 -1 75 1
rES 0 0 0 0 0 0 0 0
TEE—TH 466 5 203 1 263 4 207 2
TEEZTH 753 -1 346 -2 407 1 348 -2
TEE=TH 323 -3 156 0 167 -3 145 -2
WERAT—TH 493 -6 222 -3 271 -3 222 -3
RERE—TH 767 -2 378 -3 389 1 342 0
EE=TH 474 -3 240 -1 234 -2 220 -1
EMPRET—T B 341 0 148 2 193 -2 151 0
Gl = 558 -3 261 -4 297 1 250 1
JtFEILE—TH 184 -1 76 0 108 -1 84 0
JtFEILETZTH 439 0 199 1 240 -1 187 0
AR —TH 335 3 178 0 157 3 148 1
AR —TH 472 -5 232 -8 240 3 231 0
FEH—TH 124 -1 54 -2 70 1 54 -1
FZHZTH 324 0 134 0 190 0 145 0
[REEIH 347 1 164 1 183 0 204 -1
wFEE—TH 133 1 62 1 71 0 67 1
RFEE =T H 303 0 122 0 181 0 128 0
RAEI—TH 472 -2 214 0 258 -2 177 -1
FREIZTH 327 0 147 0 180 0 139 0
RREI=TH 513 2 241 0 272 2 237 0
FRAFETI T H 360 0 160 -2 200 2 151 0
FRETRTH 590 -6 254 -3 336 -3 222 0
FuRE—TH 247 1 126 1 121 0 116 1
FUEEI”TH 368 -3 199 -3 169 0 184 -2
HIIEEE—TH 486 -2 222 -2 264 0 225 -1




HIGEAI”TH 325 -10 149 -6 176 -4 128 -3
BRE—TH 147 7 65 4 82 3 76 7
BRI "TH 687 -1 312 -2 375 1 301 1
BRE=TH 581 2 279 1 302 1 232 -2
BEEMTH 241 2 114 1 127 1 100 2
EEEATH 726 -6 339 2 387 -8 343 0
Kt —TH 280 5 133 3 147 2 107 2
XK —TH 221 -1 112 0 109 -1 88 -1
AFH—TH 136 1 59 0 77 1 63 0
AFHZTH 8 0 4 0 4 0 5 0
AFH=TH 205 60 104 30 101 30 99 26
TEEIA—TH 606 -3 285 -2 321 -1 218 0
TEsETFE T H 283 1 133 -1 150 2 105 0
TEEAR=TH 134 2 74 1 60 1 59 2
TEEIFEM T B 480 -1 232 -2 248 1 187 1
TEEAATH 696 -5 337 -3 359 -2 254 -3
TEEIPRNT B 422 -3 193 -2 229 -1 174 0
TEsETFEE T H 606 4 290 1 316 3 268 -2
TEEIFEA\TH 645 3 312 1 333 2 263 1
TERER—TH 1,322 -11 639 -5 683 -6 558 -3
THREERTTH 404 0 195 0 209 0 158 1
TEREIR=TH 714 -4 356 0 358 -4 294 -4
TEREIERIUT B 1,149 8 562 4 587 4 452 3
TAHREERATH 1,139 -6 676 -2 463 -4 615 -2
T2REERANT B 670 1 360 0 310 1 334 2
TEZRERETH 1,454 11 709 7 745 4 580 6
TERETERNTH 1,364 1 639 -3 725 4 601 0
TEREIRAT B 559 1 286 1 273 0 114 1
TEEIE—TH 65 -2 39 0 26 -2 50 1
TEEIEZTH 33 3 22 2 11 1 29 3
4N st 80,767 46| 39,063 22| 41,704 24| 31,589 40
AEH]E 153 0 61 0 92 0 81 0
AEHTA 137 1 68 0 69 1 70 1
AEHTRE 14 0 4 0 10 0 10 0
AREHT/NBR 136 0 60 0 76 0 64 0
AEHKH 14 0 5 0 9 0 10 0
AEHTEH 79 -1 30 0 49 -1 39 0
AEH R 14 0 7 0 7 0 7 0
AEHE /R 9 0 2 0 7 0 6 0
45 17 0 8 0 9 0 11 0
AEMXEEST 573 0 245 0 328 0 298 1
IN= 1 AVES] 39 0 21 0 18 0 25 0
IN= 1RO 50 0 24 0 26 0 31 0




IN= I E0) 42 0 19 0 23 0 25 0
[1: SHTER S 42 1 22 1 20 0 28 1
[LERTEAR 75 -1 37 0 38 -1 41 -1
[LSHEHH 34 -1 14 -1 20 0 18 -1
NG9 40 0 24 0 16 0 19 0
[LEE/NFS 50 -1 28 -1 22 0 23 -1
FEH] 45 -2 22 -1 23 -1 31 -2
[ S EEET 417 -4 211 -2 206 -2 241 -4
SUEERSET 990 -4 456 -2 534 -2 539 -3
TR ET [ A _E 1,438 4 676 2 762 2 492 0
T2 X T ] EH 775 2 330 1 445 1 248 0
&R R 1,293 -3 620 1 673 -4 428 0
e 2K T iz E P 1,125 2 548 2 577 0 369 1
e 1,461 4 688 3 773 1 450 5
e 1,167 -3 553 -4 614 1 410 2
TN ] = AR 3,992 -6| 1,914 -6| 2,078 0] 1,301 -3
TR X ERET 11,251 0| 5,329 -1 5,922 1 3,698 5
ERILIET_ESREESF 2,010 13 953 7( 1,057 6 619 5
ERILIE] RSB 2,614 -15| 1,300 -3 1,314 12 847 -4
ERILIETER/)N I 2,111 0] 1,049 1] 1,062 -1 778 1
BRI BT PaR T 1,523 -3 758 0 765 -3 505 0
BRI LI BT iF 1,043 2 495 2 548 0 351 0
ERLLIET) 1R 2,300 2( 1,128 -1 1,172 3 784 0
ERILIE] R T 5,826 1 2,814 2 3,012 -1 2,089 3
BRI [X &R 5T 17,427 0| 8,497 8| 8,930 -8| 5,973 5
a 5t 110,435 42| 53,345 27| 57,090 15| 41,799 47




